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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1A 943 13.4 6.5 25 53.5 45.4

Question

90 100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Marking guidance for examiners, please apply carefully and consistently:

Positive marking

It should be remembered that candidates are writing under examination conditions and credit
should be given for what the candidate writes, rather than adopting the approach of
penalising him/her for any omissions. It should be possible for a very good response to
achieve full marks and a very poor one to achieve zero marks. Marks should not be
deducted for a less than perfect answer if it satisfies the criteria of the mark scheme.

Exemplars in the mark scheme are only meant as helpful guides. Therefore, any other
acceptable or suitable answers should be credited even though they are not actually stated
in the mark scheme.

Two main phrases are deliberately placed throughout each mark scheme to remind
examiners of this philosophy. They are:

¢ “Candidates could include some of the following, but other relevant points should be
credited.”
o “This is not a checklist, please remember to credit any valid alternatives.”

Rules for Marking
1. Differentiation will be achieved on the basis of candidates' response.

2. No mark scheme can ever anticipate or include every possible detail or interpretation;
examiners should use their professional judgement to decide whether a candidate's
particular response answers the question in relation to the particular assessment
objective.

3. Candidates will often express their ideas in language different from that given in any
mark scheme or outline. Positive marking therefore, on the part of examiners, will
recognise and credit correct statements of ideas, valid points and reasoned
arguments irrespective of the language employed.

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor provides a description of the performance level for that band. Each band contains
marks. Examiners should first read and annotate a candidate's answer to pick out the
evidence that is being assessed in that question. Once the annotation is complete, the mark
scheme can be applied. This is done as a two stage process.

Banded mark schemes stage 1 — deciding on the band

When deciding on a band, the answer should be viewed holistically. Beginning at the lowest
band, examiners should look at the candidate's answer and check whether it matches the
descriptor for that band. Examiners should look at the descriptor for that band and see if it
matches the qualities shown in the candidate's answer. If the descriptor at the lowest band is
satisfied, examiners should move up to the next band and repeat this process for each band
until the descriptor matches the answer.

© WJEC CBAC Ltd.





If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’
approach should be adopted to decide on the band and then the candidate's response
should be used to decide on the mark within the band. For instance if a response is mainly in
band 2 but with a limited amount of band 3 content, the answer would be placed in band 2,
but the mark awarded would be close to the top of band 2 as a result of the band 3 content.

Examiners should not seek to mark candidates down as a result of small omissions in minor
areas of an answer.

Banded mark schemes stage 2 — deciding on the mark

Once the band has been decided, examiners can then assign a mark. During standardising
(at the Examiners’ marking conference), detailed advice from the Principal Examiner on the
gualities of each mark band will be given. Examiners will then receive examples of answers
in each mark band that have been awarded a mark by the Principal Examiner. Examiners
should mark the examples and compare their marks with those of the Principal Examiner.

When marking, examiners can use these examples to decide whether a candidate's
response is of a superior, inferior or comparable standard to the example. Examiners are
reminded of the need to revisit the answer as they apply the mark scheme in order to
confirm that the band and the mark allocated is appropriate to the response provided.
Indicative content is also provided for banded mark schemes. Indicative content is not
exhaustive, and any other valid points must be credited. In order to reach the highest bands
of the mark scheme a learner need not cover all of the points mentioned in the indicative
content, but must meet the requirements of the highest mark band.

Awarding no marks to a response

Where a response is not creditworthy, that is it contains nothing of any relevance to the
guestion, or where no response has been provided, no marks should be awarded.
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:

- religious, philosophical and/or ethical thought and teaching
- influence of beliefs, teachings and practices on individuals, communities and societies
- cause and significance of similarities and differences in belief, teaching and practice

- approaches to the study of religion and belief.

(6)]
e o o o o

21-25 marks

Thorough, accurate and relevant knowledge and understanding of religion and belief.

An extensive and relevant response which answers the specific demands of the question set.

The response demonstrates extensive depth and/or breadth. Excellent use of evidence and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks

Accurate and relevant knowledge and understanding of religion and belief.

A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks

Mainly accurate and relevant knowledge and understanding of religion and belief.

A satisfactory response, which generally answers the main demands of the question set.

The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.

Mainly accurate use of specialist language and vocabulary in context.

N
e o 0o o o

6-10 marks

Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.

A basic response, addressing some of the demands of the question set.

The response demonstrates limited depth and/or breadth, including limited use of evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.

Some accurate use of specialist language and vocabulary in context.

1-5 marks

Very limited knowledge and understanding of religion and belief. Low level of accuracy and relevance.

A very limited response, with little attempt to address the question.

The response demonstrates very limited depth and/or breadth. Very limited use of evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.

Some grasp of basic specialist language and vocabulary.

. A maximum of 2 marks should be awarded for a response that only demonstrates

'knowledge in isolation’

No relevant information.

© WJEC CBAC Ltd.






Assessment Objective AO2- Part (b) questions 25 marks
Band Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.
21-25 marks
. Confident critical analysis and perceptive evaluation of the issue.
5 e Aresponse that successfully identifies and thoroughly addresses the issues raised by the question set.
e  Thorough, sustained and clear views are given, supported by extensive, detailed reasoning and/or evidence.
e  Thorough and accurate use of specialist language and vocabulary in context.
16-20 marks
e  Purposeful analysis and effective evaluation of the issue.
4 e  The main issues raised by the question are identified successfully and addressed.
e  The views given are clearly supported by detailed reasoning and/or evidence.
e  Accurate use of specialist language and vocabulary in context.
11-15 marks
e  Satisfactory analysis and relevant evaluation of the issue.
3 e Most of the issues raised by the question are identified successfully and have generally been addressed.
. Most of the views given are satisfactorily supported by reasoning and/or evidence.
e  Mainly accurate use of specialist language and vocabulary in context.
6-10 marks
e  Some valid analysis and inconsistent evaluation of the issue.
2 e Alimited number of issues raised by the question set are identified and partially addressed.
e A basic attempt to justify the views given, but they are only partially supported with reason and/or evidence.
e  Some accurate use of specialist language and vocabulary in context.
1-5 marks
e A basic analysis and limited evaluation of the issue.
1 e An attempt has been made to identify and address the issues raised by the question set.
e Little attempt to justify a view with reasoning or evidence.
. Some use of basic specialist language and vocabulary.
0 e No relevant analysis or evaluation.

© WJEC CBAC Ltd.
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Component 3: An Introduction to Religion and Ethics
MARK SCHEME
To be read in conjunction with the generic band provided.
Section A

Explain Mill's development of Bentham’s Utilitarianism.
[AO1 25]

Candidates could include some of the following, but other relevant
points should be credited.

¢ Candidates may well start with a brief overview of Bentham’s classical
version of Utilitarianism.
o Mill developed Bentham’s Act Utilitarianism in several important ways.

Higher and Lower Pleasures

o Bentham’s Act Utilitarianism measured the quantity of happiness,
therefore he made no reference to the type of happiness created.
However, Mill argued that happiness should be measured by the quality of
happiness created.

e Mill broke types of happiness/pleasures into two general categories:

e Higher Pleasures = pleasures of the mind e.g. having friends, aesthetic
appreciation, forgiveness etc.

o Lower Pleasures = pleasures of the body e.g. violence, indulgence of food
or drink etc.

e Mill argued that the higher pleasures were superior to the lower
pleasures. Therefore, in any calculation of the happiness created
pleasures of the mind (higher pleasures) would out score pleasures of the
body (lower pleasures).

Harm Principle

o Mill believed that individuals should have the liberty/freedom to do what
they like, particularly when trying to create pleasure/happiness. However,
Mill made an exception: individual freedom could be limited when it
prevents an individual harming another individual.

Rules in Utilitarianism

o Mill believed that there were general rules that society could follow that
would bring about the maximum happiness for the maximum amount of
people.

o Mill believed that the rules that would create the most happiness would be
relatively obvious i.e. we generally already know what rules would bring
about the maximum happiness for society.

» Morally Good/Right = Following a rule that creates the maximum
amount of happiness for the maximum number of people in society

» Morally Bad/Wrong = Breaking a rule that creates the maximum
amount of happiness for the maximum number of people in society.

o Candidates may well illustrate their answers with relevant examples.

This is not a checklist, please remember to credit any valid alternatives.





1. ()

© WJEC CBAC Ltd.

'Act Utilitarianism is not relevant in modern society.'

Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
points should be credited.

One line of thinking could be that happiness (and thus Act Utilitarianism)
should not be the criteria to judge morality, in modern society, because
happiness is not the most important emotion in our lives. Philosopher’s,
like Robert Nozick, argued that if we had the chance to be hooked up to a
virtual reality machine that would guarantee happiness for the rest of our
lives we would turn it down. This is because things like relationships with
family and friends are much more important to us.

However, this line of thinking could be countered by arguments that
happiness is a good thing in modern society. For example, contemporary
psychologist Sonja Lyubomirsky supports the idea that happiness is the
most important thing for us. She states: “Happy people are more likely to
have fulfilling relationships, high incomes, superior work performance,
community involvement, robust health and even a long life.” Moreover,
scientist Stefan Klein states: “people are genetically programmed for
positive feelings.” i.e. our brains are wired up to want happiness.

Another line of argument is that modern society is in moral decline e.g.
Lord Devlin argued that a society's existence depends on the
maintenance of strong deontological rule based moral values not unclear
guidelines about happiness (like Act Utilitarianism). Therefore, what
society needs, to improve morality, is decisive and clear deontological
moral ethic that everyone can clearly follow.

However, this could be countered by arguments to suggest that Act
Utilitarianism would work well in modern society. For example,
philosopher Gareth Moore claims people are different, they are affected
by their culture, upbringing etc. Act Utilitarianism allows for these
differences because happiness is different in each culture. Because
Utilitarianism allows for these differences it is more likely to work in
modern society. Or that Post-Modern Society (society has rejected fixed
values like the deontological rules) is going to support Act Utilitarianism.
This is because Act Utilitarianism is not based on fixed deontological
rules.

Another line of thinking could be that Act Utilitarianism’s teleological
approach means we have to predict the potential happiness outcomes of
our actions. However, this is easier said than done because moral agents
are not good at predicting consequences; particularly in today’s complex
society. Therefore, moral agents could do a bad action with the hope that
it creates happiness consequences. However, it is almost impossible for
us to predict consequences accurately and therefore our bad action could
also create unhappy consequences.

However, this line of reasoning could be rejected because some
Sociologists would argue we live in a secular society (a society where
there is declining interest in religion). Therefore, Act Utilitarianism
approach would work in modern society with its atheist approach.

Overall candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

It was ok to write a brief overview of Bentham's Utilitarianism at the beginning of the essay.  However, this was a little basic



 

Sticky Note

A good example to illustrate one of Mill's developments of Bentham's Utilitarianism.  However, the explanation of the example, in terms of Mill's theory, was weaker.



 

Sticky Note

The point is accurate, illustrating knowledge of the of Mill's development of Bentham's Utilitarianism.  However, again a little basic.
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Sticky Note

Band 3 11 marks.

Mainly accurate and relevant knowledge and understanding of religion and belief. 

A satisfactory response, which generally answers the main demands of the question set.




 

Sticky Note

A very confused point, that does not really appear to address the question set.



 

Sticky Note

A slightly better point but again could have been better explained, particularly the comparison to Biblical ethics.



 

Sticky Note

The best point in this part B.  Though again it could have done with a clearer explanation
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Sticky Note

An  attempt at a conclusion, but this  needs to make more explicit reference to the question.



 

Sticky Note

Band 1 5 marks

A basic analysis and limited evaluation of the issue. An attempt has been made to identify and address the issues raised by the question set. 























(@) Explain Mill's development of Bentham’s Utilitarianism. [25]

(b) ‘Act Utilitarianism is not relevant in modern society.’
Evaluate this view. [25]
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Marking guidance for examiners, please apply carefully and consistently:

Positive marking

It should be remembered that candidates are writing under examination conditions and credit
should be given for what the candidate writes, rather than adopting the approach of
penalising him/her for any omissions. It should be possible for a very good response to
achieve full marks and a very poor one to achieve zero marks. Marks should not be
deducted for a less than perfect answer if it satisfies the criteria of the mark scheme.

Exemplars in the mark scheme are only meant as helpful guides. Therefore, any other
acceptable or suitable answers should be credited even though they are not actually stated
in the mark scheme.

Two main phrases are deliberately placed throughout each mark scheme to remind
examiners of this philosophy. They are:

¢ “Candidates could include some of the following, but other relevant points should be
credited.”
o “This is not a checklist, please remember to credit any valid alternatives.”

Rules for Marking
1. Differentiation will be achieved on the basis of candidates' response.

2. No mark scheme can ever anticipate or include every possible detail or interpretation;
examiners should use their professional judgement to decide whether a candidate's
particular response answers the question in relation to the particular assessment
objective.

3. Candidates will often express their ideas in language different from that given in any
mark scheme or outline. Positive marking therefore, on the part of examiners, will
recognise and credit correct statements of ideas, valid points and reasoned
arguments irrespective of the language employed.

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor provides a description of the performance level for that band. Each band contains
marks. Examiners should first read and annotate a candidate's answer to pick out the
evidence that is being assessed in that question. Once the annotation is complete, the mark
scheme can be applied. This is done as a two stage process.

Banded mark schemes stage 1 — deciding on the band

When deciding on a band, the answer should be viewed holistically. Beginning at the lowest
band, examiners should look at the candidate's answer and check whether it matches the
descriptor for that band. Examiners should look at the descriptor for that band and see if it
matches the qualities shown in the candidate's answer. If the descriptor at the lowest band is
satisfied, examiners should move up to the next band and repeat this process for each band
until the descriptor matches the answer.

© WJEC CBAC Ltd.





If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’
approach should be adopted to decide on the band and then the candidate's response
should be used to decide on the mark within the band. For instance if a response is mainly in
band 2 but with a limited amount of band 3 content, the answer would be placed in band 2,
but the mark awarded would be close to the top of band 2 as a result of the band 3 content.

Examiners should not seek to mark candidates down as a result of small omissions in minor
areas of an answer.

Banded mark schemes stage 2 — deciding on the mark

Once the band has been decided, examiners can then assign a mark. During standardising
(at the Examiners’ marking conference), detailed advice from the Principal Examiner on the
gualities of each mark band will be given. Examiners will then receive examples of answers
in each mark band that have been awarded a mark by the Principal Examiner. Examiners
should mark the examples and compare their marks with those of the Principal Examiner.

When marking, examiners can use these examples to decide whether a candidate's
response is of a superior, inferior or comparable standard to the example. Examiners are
reminded of the need to revisit the answer as they apply the mark scheme in order to
confirm that the band and the mark allocated is appropriate to the response provided.
Indicative content is also provided for banded mark schemes. Indicative content is not
exhaustive, and any other valid points must be credited. In order to reach the highest bands
of the mark scheme a learner need not cover all of the points mentioned in the indicative
content, but must meet the requirements of the highest mark band.

Awarding no marks to a response

Where a response is not creditworthy, that is it contains nothing of any relevance to the
guestion, or where no response has been provided, no marks should be awarded.
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:

- religious, philosophical and/or ethical thought and teaching
- influence of beliefs, teachings and practices on individuals, communities and societies
- cause and significance of similarities and differences in belief, teaching and practice

- approaches to the study of religion and belief.

(6)]
e o o o o

21-25 marks

Thorough, accurate and relevant knowledge and understanding of religion and belief.

An extensive and relevant response which answers the specific demands of the question set.

The response demonstrates extensive depth and/or breadth. Excellent use of evidence and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks

Accurate and relevant knowledge and understanding of religion and belief.

A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks

Mainly accurate and relevant knowledge and understanding of religion and belief.

A satisfactory response, which generally answers the main demands of the question set.

The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.

Mainly accurate use of specialist language and vocabulary in context.

N
e o 0o o o

6-10 marks

Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.

A basic response, addressing some of the demands of the question set.

The response demonstrates limited depth and/or breadth, including limited use of evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.

Some accurate use of specialist language and vocabulary in context.

1-5 marks

Very limited knowledge and understanding of religion and belief. Low level of accuracy and relevance.

A very limited response, with little attempt to address the question.

The response demonstrates very limited depth and/or breadth. Very limited use of evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.

Some grasp of basic specialist language and vocabulary.

. A maximum of 2 marks should be awarded for a response that only demonstrates

'knowledge in isolation’

No relevant information.
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Assessment Objective AO2- Part (b) questions 25 marks
Band Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.
21-25 marks
. Confident critical analysis and perceptive evaluation of the issue.
5 e  Aresponse that successfully identifies and thoroughly addresses the issues raised by the question set.
e  Thorough, sustained and clear views are given, supported by extensive, detailed reasoning and/or evidence.
e  Thorough and accurate use of specialist language and vocabulary in context.
16-20 marks
e  Purposeful analysis and effective evaluation of the issue.
4 e  The main issues raised by the gquestion are identified successfully and addressed.
e  The views given are clearly supported by detailed reasoning and/or evidence.
e  Accurate use of specialist language and vocabulary in context.
11-15 marks
e  Satisfactory analysis and relevant evaluation of the issue.
3 e  Most of the issues raised by the question are identified successfully and have generally been addressed.
. Most of the views given are satisfactorily supported by reasoning and/or evidence.
e  Mainly accurate use of specialist language and vocabulary in context.
6-10 marks
e  Some valid analysis and inconsistent evaluation of the issue.
2 e Alimited number of issues raised by the question set are identified and partially addressed.
e A basic attempt to justify the views given, but they are only partially supported with reason and/or evidence.
e  Some accurate use of specialist language and vocabulary in context.
1-5 marks
e A basic analysis and limited evaluation of the issue.
1 e An attempt has been made to identify and address the issues raised by the question set.
e Little attempt to justify a view with reasoning or evidence.
. Some use of basic specialist language and vocabulary.
0 e No relevant analysis or evaluation.
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Component 3: An Introduction to Religion and Ethics
MARK SCHEME
To be read in conjunction with the generic band provided.
Section A

Explain Mill's development of Bentham’s Utilitarianism.
[AO1 25]

Candidates could include some of the following, but other relevant
points should be credited.

¢ Candidates may well start with a brief overview of Bentham’s classical
version of Utilitarianism.
o Mill developed Bentham’s Act Utilitarianism in several important ways.

Higher and Lower Pleasures

o Bentham’s Act Utilitarianism measured the quantity of happiness,
therefore he made no reference to the type of happiness created.
However, Mill argued that happiness should be measured by the quality of
happiness created.

o Mill broke types of happiness/pleasures into two general categories:

e Higher Pleasures = pleasures of the mind e.g. having friends, aesthetic
appreciation, forgiveness etc.

o Lower Pleasures = pleasures of the body e.g. violence, indulgence of food
or drink etc.

e Mill argued that the higher pleasures were superior to the lower
pleasures. Therefore, in any calculation of the happiness created
pleasures of the mind (higher pleasures) would out score pleasures of the
body (lower pleasures).

Harm Principle

o Mill believed that individuals should have the liberty/freedom to do what
they like, particularly when trying to create pleasure/happiness. However,
Mill made an exception: individual freedom could be limited when it
prevents an individual harming another individual.

Rules in Utilitarianism

o Mill believed that there were general rules that society could follow that
would bring about the maximum happiness for the maximum amount of
people.

o Mill believed that the rules that would create the most happiness would be
relatively obvious i.e. we generally already know what rules would bring
about the maximum happiness for society.

» Morally Good/Right = Following a rule that creates the maximum
amount of happiness for the maximum number of people in society

» Morally Bad/Wrong = Breaking a rule that creates the maximum
amount of happiness for the maximum number of people in society.

o Candidates may well illustrate their answers with relevant examples.

This is not a checklist, please remember to credit any valid alternatives.





1. ()
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'Act Utilitarianism is not relevant in modern society.'

Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
points should be credited.

One line of thinking could be that happiness (and thus Act Utilitarianism)
should not be the criteria to judge morality, in modern society, because
happiness is not the most important emotion in our lives. Philosopher’s,
like Robert Nozick, argued that if we had the chance to be hooked up to a
virtual reality machine that would guarantee happiness for the rest of our
lives we would turn it down. This is because things like relationships with
family and friends are much more important to us.

However, this line of thinking could be countered by arguments that
happiness is a good thing in modern society. For example, contemporary
psychologist Sonja Lyubomirsky supports the idea that happiness is the
most important thing for us. She states: “Happy people are more likely to
have fulfilling relationships, high incomes, superior work performance,
community involvement, robust health and even a long life.” Moreover,
scientist Stefan Klein states: “people are genetically programmed for
positive feelings.” i.e. our brains are wired up to want happiness.

Another line of argument is that modern society is in moral decline e.g.
Lord Devlin argued that a society's existence depends on the
maintenance of strong deontological rule based moral values not unclear
guidelines about happiness (like Act Utilitarianism). Therefore, what
society needs, to improve morality, is decisive and clear deontological
moral ethic that everyone can clearly follow.

However, this could be countered by arguments to suggest that Act
Utilitarianism would work well in modern society. For example,
philosopher Gareth Moore claims people are different, they are affected
by their culture, upbringing etc. Act Utilitarianism allows for these
differences because happiness is different in each culture. Because
Utilitarianism allows for these differences it is more likely to work in
modern society. Or that Post-Modern Society (society has rejected fixed
values like the deontological rules) is going to support Act Utilitarianism.
This is because Act Utilitarianism is not based on fixed deontological
rules.

Another line of thinking could be that Act Utilitarianism’s teleological
approach means we have to predict the potential happiness outcomes of
our actions. However, this is easier said than done because moral agents
are not good at predicting consequences; particularly in today’s complex
society. Therefore, moral agents could do a bad action with the hope that
it creates happiness consequences. However, it is almost impossible for
us to predict consequences accurately and therefore our bad action could
also create unhappy consequences.

However, this line of reasoning could be rejected because some
Sociologists would argue we live in a secular society (a society where
there is declining interest in religion). Therefore, Act Utilitarianism
approach would work in modern society with its atheist approach.

Overall candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

A strong opening paragraph because it addresses the question directly rather than giving unnecessary background information.




 

Sticky Note

A good explanation,  as well as good use of technical language.
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Sticky Note

A very good additional point. Very few candidates, who attempted this question, explained this point.




 

Sticky Note

A good explanation of Rule Utilitarianism, especially the explanation of how rules are generated. However, it does miss a reference to happiness.
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Sticky Note

A little bit of repetition, but overall an answer that illustrated a detailed and accurate knowledge of Mill's development of Bentham's Utilitarianism

Band 5 23 marks
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Sticky Note

Mark Lambe 
2 days ago 
A good opening paragraph, that again gets straight on with answering the question set. Also confident use of technical language.




 

Sticky Note

An original and well explained point.
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Sticky Note


A good point that importantly links to the question set. A lot of candidates for this question were writing generic points rather than linking them to the question set.




 

Sticky Note

Another excellent point that addresses the question directly.
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Sticky Note


A good evaluation to finish, that directly addresses the question set.

Band 5 25 marks.






















(@) Explain Mill's development of Bentham’s Utilitarianism. [25]

(b)  ‘Act Utilitarianism is not relevant in modern society.’
Evaluate this view. [25]
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Marking guidance for examiners, please apply carefully and consistently:

Positive marking

It should be remembered that candidates are writing under examination conditions and credit
should be given for what the candidate writes, rather than adopting the approach of
penalising him/her for any omissions. It should be possible for a very good response to
achieve full marks and a very poor one to achieve zero marks. Marks should not be
deducted for a less than perfect answer if it satisfies the criteria of the mark scheme.

Exemplars in the mark scheme are only meant as helpful guides. Therefore, any other
acceptable or suitable answers should be credited even though they are not actually stated
in the mark scheme.

Two main phrases are deliberately placed throughout each mark scheme to remind
examiners of this philosophy. They are:

¢ “Candidates could include some of the following, but other relevant points should be
credited.”
o “This is not a checklist, please remember to credit any valid alternatives.”

Rules for Marking
1. Differentiation will be achieved on the basis of candidates' response.

2. No mark scheme can ever anticipate or include every possible detail or interpretation;
examiners should use their professional judgement to decide whether a candidate's
particular response answers the question in relation to the particular assessment
objective.

3. Candidates will often express their ideas in language different from that given in any
mark scheme or outline. Positive marking therefore, on the part of examiners, will
recognise and credit correct statements of ideas, valid points and reasoned
arguments irrespective of the language employed.

Banded mark schemes

Banded mark schemes are divided so that each band has a relevant descriptor. The
descriptor provides a description of the performance level for that band. Each band contains
marks. Examiners should first read and annotate a candidate's answer to pick out the
evidence that is being assessed in that question. Once the annotation is complete, the mark
scheme can be applied. This is done as a two stage process.

Banded mark schemes stage 1 — deciding on the band

When deciding on a band, the answer should be viewed holistically. Beginning at the lowest
band, examiners should look at the candidate's answer and check whether it matches the
descriptor for that band. Examiners should look at the descriptor for that band and see if it
matches the qualities shown in the candidate's answer. If the descriptor at the lowest band is
satisfied, examiners should move up to the next band and repeat this process for each band
until the descriptor matches the answer.

© WJEC CBAC Ltd.





If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’
approach should be adopted to decide on the band and then the candidate's response
should be used to decide on the mark within the band. For instance if a response is mainly in
band 2 but with a limited amount of band 3 content, the answer would be placed in band 2,
but the mark awarded would be close to the top of band 2 as a result of the band 3 content.

Examiners should not seek to mark candidates down as a result of small omissions in minor
areas of an answer.

Banded mark schemes stage 2 — deciding on the mark

Once the band has been decided, examiners can then assign a mark. During standardising
(at the Examiners’ marking conference), detailed advice from the Principal Examiner on the
gualities of each mark band will be given. Examiners will then receive examples of answers
in each mark band that have been awarded a mark by the Principal Examiner. Examiners
should mark the examples and compare their marks with those of the Principal Examiner.

When marking, examiners can use these examples to decide whether a candidate's
response is of a superior, inferior or comparable standard to the example. Examiners are
reminded of the need to revisit the answer as they apply the mark scheme in order to
confirm that the band and the mark allocated is appropriate to the response provided.
Indicative content is also provided for banded mark schemes. Indicative content is not
exhaustive, and any other valid points must be credited. In order to reach the highest bands
of the mark scheme a learner need not cover all of the points mentioned in the indicative
content, but must meet the requirements of the highest mark band.

Awarding no marks to a response

Where a response is not creditworthy, that is it contains nothing of any relevance to the
guestion, or where no response has been provided, no marks should be awarded.
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AS Generic Band Descriptors

Band

Assessment Objective AO1 — Part (a) questions 25 marks
Demonstrate knowledge and understanding of religion and belief, including:

- religious, philosophical and/or ethical thought and teaching
- influence of beliefs, teachings and practices on individuals, communities and societies
- cause and significance of similarities and differences in belief, teaching and practice

- approaches to the study of religion and belief.

(6)]
e o o o o

21-25 marks

Thorough, accurate and relevant knowledge and understanding of religion and belief.

An extensive and relevant response which answers the specific demands of the question set.

The response demonstrates extensive depth and/or breadth. Excellent use of evidence and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks

Accurate and relevant knowledge and understanding of religion and belief.

A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks

Mainly accurate and relevant knowledge and understanding of religion and belief.

A satisfactory response, which generally answers the main demands of the question set.

The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate.

Mainly accurate use of specialist language and vocabulary in context.

N
e o 0o o o

6-10 marks

Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.

A basic response, addressing some of the demands of the question set.

The response demonstrates limited depth and/or breadth, including limited use of evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where appropriate.

Some accurate use of specialist language and vocabulary in context.

1-5 marks

Very limited knowledge and understanding of religion and belief. Low level of accuracy and relevance.

A very limited response, with little attempt to address the question.

The response demonstrates very limited depth and/or breadth. Very limited use of evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.

Some grasp of basic specialist language and vocabulary.

. A maximum of 2 marks should be awarded for a response that only demonstrates

'knowledge in isolation’

No relevant information.
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Assessment Objective AO2- Part (b) questions 25 marks
Band Analyse and evaluate aspects of, and approaches to, religion and belief,
including their significance, influence and study.
21-25 marks
. Confident critical analysis and perceptive evaluation of the issue.
5 e Aresponse that successfully identifies and thoroughly addresses the issues raised by the question set.
e  Thorough, sustained and clear views are given, supported by extensive, detailed reasoning and/or evidence.
e  Thorough and accurate use of specialist language and vocabulary in context.
16-20 marks
e  Purposeful analysis and effective evaluation of the issue.
4 e  The main issues raised by the question are identified successfully and addressed.
e  The views given are clearly supported by detailed reasoning and/or evidence.
e  Accurate use of specialist language and vocabulary in context.
11-15 marks
e  Satisfactory analysis and relevant evaluation of the issue.
3 e Most of the issues raised by the question are identified successfully and have generally been addressed.
. Most of the views given are satisfactorily supported by reasoning and/or evidence.
e  Mainly accurate use of specialist language and vocabulary in context.
6-10 marks
e  Some valid analysis and inconsistent evaluation of the issue.
2 e Alimited number of issues raised by the question set are identified and partially addressed.
e A basic attempt to justify the views given, but they are only partially supported with reason and/or evidence.
e  Some accurate use of specialist language and vocabulary in context.
1-5 marks
e A basic analysis and limited evaluation of the issue.
1 e An attempt has been made to identify and address the issues raised by the question set.
e Little attempt to justify a view with reasoning or evidence.
. Some use of basic specialist language and vocabulary.
0 e No relevant analysis or evaluation.
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Examine the precepts and goods within Aquinas’ Natural Law. [AO1 25]

Candidates could include some of the following, but other relevant
points should be credited.

The Precepts

There are three types of precepts (key, primary and secondary):

Aquinas reasoned that the best way to achieve our Highest Good can be
summed up by the following phrase: ‘do good and avoid evil’. Aquinas
called this the Key Precept.

If God created moral goodness (the Eternal Laws) then to become more
like God we need to follow God’s eternal laws and avoid the opposite
(which must be evil) i.e. In the same way you would please your parents
by following their rules, so you can please God by following his rules (the
eternal laws).

Aquinas reasoned because humanity was created by God then He must
have created all aspects of humanity, including humanity's purposes in
life. He said that humanity has five permanent purposes in our life, set by
God. Aquinas called these the Primary Precepts: preservation of life,
ordered society, worship God, education and reproduction of the human
species. Aquinas believed that these Primary Precepts never change.
Aquinas reasoned from the above Primary Precepts you can create
specific ethical rules. These rules are known as the Secondary Precepts.
Any action that breaks a Primary Precept is wrong (evil) and any action
that supports/upholds a Primary Precept is good.

Aquinas believed that by following the Secondary Precept rules will
ultimately get us to heaven. This is because if we follow the Secondary
Precepts we are following the Key Precept of ‘Do Good and Avoid Evil'. If
we follow the key precept we are achieving our highest good. By following
our highest good we are re-establishing a right relationship with God.
And if we do this we will gain eternal life in heaven, with God, when we
die.

The Goods

Aquinas believed that all humans were created with the ability to reason
by God, therefore everyone has within them the ability to reason out
Natural Law and thus achieve their Highest Good. Aquinas even argued
that humans were naturally orientated towards the achievement of their
Highest Good.

Real Good = this is where a person reasons out Natural Law perfectly, so
that they follow their highest good. You are achieving your highest good.
Apparent Good = anyone who does not follow Natural Law correctly is
not deliberately being bad (they are not evil as such) they are just using
their God given reason incorrectly. Therefore, moral agents are not
deliberately sinful they are just using their reason wrongly.

This is not a checklist, please remember to credit any valid alternatives.
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5 (b)

‘Following Natural Law results in injustice.’
Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
points should be credited.

¢ One line of thinking could be that Natural Law results in injustices
because it ignores any potential bad consequences of our actions. For
example, a Natural Law secondary precept is that ‘contraception is wrong’
because it breaks the primary precept of Reproduction of the Human
Species. However, the consequences of this is that poor families,
particularly in third world countries, are having children they can ill afford
to bring up. Therefore, creating greater poverty and suffering.

¢ However, the above could be countered because Natural Law is
objective. Natural Law gives us rules that are independent of our
individual thoughts and desires. Therefore, Natural Law is completely
objective (it is not biased by our own feelings and desires).

¢ Another line of thinking is that Natural Law can create injustices because
it is out-dated. Natural Law is enforcing centuries old views that are out
of touch with 21st century ethical valves e.g. the purpose of sex is to
procreate, this can lead to homophobia etc.

e This point can be countered because Natural Law is reliable and
consistent. Ethics that rely on moral agents predicting consequences,
like Situation Ethics or Utilitarianism, are not reliable because human
reactions are often unpredictable. Natural Law gives us set rules that do
not rely on unpredictable consequences.

¢ Another line of thinking is that Natural Law has an inflexible approach that
can lead to immoral outcomes e.g. not allowing contraception has led to
the spread of AIDS in Africa.

o However, this line of reasoning can be countered because Natural Law
does have a certain amount of flexibility. Natural Law allows for
secondary precepts to vary if an extreme situation arises (it has a
teleological aspect to it).

e Another line of thinking is that Natural Law can create injustice because
religious scripture is a more reliable approach to ethics than Aquinas’ use
of reason. This is because reason (as Aquinas admits in his ‘apparent
good’ theory) can be used wrongly.

o However, this line of thinking could be countered because Natural Law is
all-encompassing. Natural Law can be applied to all ethical issues
including modern ethical issues that are not covered in the religious texts
e.g. genetics. Therefore, Natural Law can be applied to all ethical issues
in contemporary (modern) society making it just.

Overall candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.

B120U30-1 RS Component 3 MS Summer 2017/LG
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Sticky Note

A good introduction, in terms that it is accurate and quickly gets to the point.



 

Sticky Note

What this candidate writes is accurate.  However, the question asks candidates to examine the precepts and therefore this is just a little brief.  Each of the primary precepts could have been explained.



 

Sticky Note

Again accurate but a little brief, even with the section added at the end



 

Sticky Note

A good section -  particularly the chocolate metaphor. It could have been slightly better explained in the end,  but on the whole a good paragraph.
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Sticky Note

Accurate points but unfortunately not relevant to the question.



 

Sticky Note

Overall Band 3 14 marks.
Mainly accurate and relevant knowledge and understanding of religion and belief. 

A satisfactory response, which generally answers the main demands of the question set.
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Sticky Note

Some worthy points, but overall the response is far too rushed and under explained.  This candidate should have made a brief plan before starting this essay.



 

Sticky Note

An interesting example that could have provided a logical argument.  Just a little unstructured in places.
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Sticky Note

Overall, Band 3 14 marks. 

Satisfactory analysis and 
relevant evaluation of the issue.

Most of the issues raised by the question are identified successfully and have generally been addressed.




 

Sticky Note

Good points made with good links to the question. Just could have been a little clearer in its explanation



 

Sticky Note

Like the rest of this part B, there is some good points in this paragraph, that link to the question set.  However the response is a little unstructured and rushed in parts.  Also this essay would have benefited from a conclusion.






















(@) Examine the precepts and goods within Aquinas’ Natural Law. [25]

(b) ‘Following Natural Law results in injustice.’
Evaluate this view. [25]







